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@Ghana produces a lot of cacao.
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@It's made into chocolate.
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(3@Many cacao farm workers are very poor
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because cacao is sg{ld at a low price.
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@They WOI'k hard, but they can't make enough money to live.
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®They work under "unfair" conditions.
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@Many children 1 1n Ghana have to work on farms to help thelr families.
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@Some of them have never been to school.
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®Fair trade can solve these problems.
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@If you buy fair trade chocolate, more money goes to the workers.

vavys FafAqg R o AL 7 FAT T LA

.Your shopping choices can make a difference.
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